SSL.C EXAMINATION , MARCH - 2022

S1730 ANSWER KEY - MATHEMATICS - MM
g: (Ul aldneunud MiIGHId
al0@g - 1
1 oy@d 10 cuere@ss @a193(68Rud06) 1 mies0@ aflmo
(A)
1 4 1 1
2 | 70 1 1
3 3 1 1
10
4 1 1
3 1 1
0 1 1
(B)
7 1 1 1
V3
24 1 1
1043 1 1
10 | 1 1 1
a10@g - 11
11 ay@@d 18 ueoe@s8s @2193(6BRUBH6) 2 MIH:2@ nllmo
(A)
11 [(a) 62 1 2
(b) 3n + 2 1
12 ((@) 25 a1.e0v.a1. 1 2
25 1
® 5 =2 1
13 [(a) 343 on. 1 2
(b) 3o. 1
14 | x(x + 1) 2 2
15| 32,35, 38, 42, 43, 44 ,45 1 2
awime = 42 1
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(B)

16 [(a) 2
(b) 110
17 | 9 x 4 = PC°
PC = 6 oav.01.
18 2 2
1+ —-(7—-1) , 2+ —(5—-2
(1+2(7-1), 2+ 2(5-2))
(5, 4)
a10@dg - 111
19 oyo@d 25 ueE@RSS @ald3(6BRUBO6) 4 MiIH:2@ allmo
(A)
19 |mdadlwil
20 (@) x + 4
b x>+ 4x = 77
(x + 2)* = 81
mlgo = 11 oav.al. ,all@l = 7 oav.ol.
21 |mMdalo
22 | Lidlan@®@o = \/92 + 12° = 15 oqu.on.
oaidlmelgeyeal = 7X 9 + 7 X 9 X 15 = 2167 a1.e0v. 0.
23 (@) (4+8-2,6+4—2) = (10,8)
2+10 2+8
b , = (6,5
® (20 228 - (g5)
B)
24 ((@) 4 X 5 =20
6 3
b — = 2
) 20 10

(b) @emyeelnceicesud = (1,9) , (2,8), (3,7), (4, 6)

@62 MUoAU(BBIOS D> 10 @RB:OMS8S MVIWIm= 24—0 = %
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25

(@) 10 X sin40’ = 6.4 oav.nl.

(b) 20 X 6.4 = 128 a1.0av.01.

al0@dsg - IV

26 oy@@d 32 QIOE@ISS @2193(6BRU3LE 6 Mie®:0@ allmo

(A)

26

(@@ PC = PD

PC = «/8)(2 = 4 oav.o.

(b) midadlwl

27

(@ 90°
(b) AB = 10 oav.0.

BC = 10«/§ oav. .

CD = Es)m).ﬂ. or = 10«/5 oav. o,
V2

AD = Q@m).ﬂ. or = 10«/5 oav. o,
V2

40

— &aav.nl.
V2

or

angaal = 10 + 1043 +

= 10 + 10v/3 + 20vV2 oqu.al.

28

(a) B @yes mpaismuoayeud = (7, 1)
D @30S Mualdauoa@ud = (2, 5)

(b) aiigo = 5 eav.ail.

ol = 4 eavu.dl.

(0 \/(7—2)2 + (5-1)° = Valoau. .

29

(a) % X m X 6° = 2887 cain.oqv. 0.

(b) ayommioyaile:ayes iPaime = 2887 ccim . oav.ol.
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(b) %XEXGZXh=288Jv

h = 24sav.01.

(B)

30 [(@) x+5
b) x(x + 5) = 104
x>+ 5x — 104 = 0
L _ =55 -4 x1x(-104) _ —5+ya41
- 2x1 - 2
n=8 o n=-13
31 {(@) 3
b) x—-1
© p(x)-p(1) = x'=3x+2
p(x) = p(1) = (x-1)(x-2)
p(x) = p(1) = 0 agem BAE ETION al@lanooserud = 1, 2
32 |(a) 23
(b) 160 + 162 = 161
2
(b) 160 myo 180 Myo WsWLRSS HOAURBIGI PaIGERINEEBUE MLVAIN@
gweeml@ileloeny .
DWA Dale@RIe = 161 + 3 X 2 = 167 @My’
alods - V
33 myom@d 35 Auee@ISSs @2193(6BRUBH6 8 Mies:2@ nllmo
33 [(@)8)onaiBo = 6 + 7X4 = 34

@RRIOO™® 15 aireErzges o = 15 X awyalzdo = 15X34 = 510
(b) 15X d = 60

(© 15 X 15 X d = 900
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34

LOAC= 90’
ZACB= 70°

(b) mdalwil

35

(a) mldal@

3-1
b) —— =1
® 72

(c) aovomleagd awsenilazzaioeny AOMES: (B0
aoauEBileng acq @rRQe®™ enilnsinileng muzale:qucalie:ud

= (5,2
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